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দক্ষিণ প্রান্তস্থ সংখ্যাগুক্ষি প্রশ্নের পূণণমাশ্নের ক্ষেশ্নদণশক। 
পরীিার্ণীশ্নদর যর্াসম্ভব ক্ষেশ্নের ভাষায় উত্তর ক্ষদশ্নে হশ্নব। 

1. Answer any two of the following questions:               2⅟2 x 2=5 

ক্ষেম্নক্ষিক্ষখ্ে যয যকাে দুক্ষি প্রশ্নের উত্তর দাও:             

a) What is common sense, according to G.E. Moore? 

ক্ষে. ই. মুশ্নরর মশ্নে যিৌক্ষকক ‘¡e কী? 

b) What is knowledge by description, according to Russell? 

রাশ্নসশ্নির মশ্নে hZÑe¡মূিক ‘¡e কী? 

c) What is ‘nothingness’ according to Sartre? 

সাশ্নরণর মশ্নে ‘শূেযো’ কী? 

d) What is meant by ‘definition’? 

‘িিণ’ বিশ্নে কী যবাঝায়? 

e) What is meant by ‘vagueness of a word’? 

‘শশ্নের অস্পষ্টো’ বিশ্নে কী যবাঝায়? 

f) Write two disadvantages of pragmatic theory of truth. 

প্রশ্নয়াগবাদী সেয েশ্নের দুক্ষি অসুক্ষবধা যিখ্। 

g) When is a proposition true according to the correspondence theory of truth? 

সেযো ক্ষবষয়ক  অেুরূপোবাদ অেুযায়ী কখ্ে একক্ষি বচে সেয হয়? 



h) What does ‘coherence’ mean in the context of coherence theory of truth? 

paÉa¡ সম্পশ্নকণ pwp¢š²h¡যদ "pwp¢š²' বিশ্নে কী যবাঝায়? 

2. Answer any one of the following questions:                  5 x 1=5 

ক্ষেম্নক্ষিক্ষখ্ে যয যকাে একক্ষি প্রশ্নের উত্তর দাও:             

a) How does Russell distinguish between knowledge by acquaintance and knowledge by     

description? 

পক্ষরক্ষচক্ষে  অশ্নর্ণ জ্ঞাে এবং বণণো অশ্নর্ণ জ্ঞাশ্নের মশ্নধয রাশ্নসি কীভাশ্নব পার্ণকয কশ্নরশ্নেে? 

b) Explain Jean Paul Sartre’s notion of freedom? 

Sy¡ fm সাশ্নরণর ü¡d£ea¡l d¡lZ¡¢V hÉ¡MÉ¡ Ll? 

c) What is the relation between word-meaning and sentence-meaning? Discuss. 

শোশ্নর্ণর সশ্নে বাকযাশ্নর্ণর সম্পকণ কী? আশ্নিাচো কর। 

d) State the basic tenets of the correspondence theory of truth. 

paÉa¡ সম্পশ্নকণ Be¤l©fÉবাশ্নদর j§m hš²hÉ ¢hhªa Llz 

3. Answer any one of the following questions:              10 x 1=10 

ক্ষেম্নক্ষিক্ষখ্ে যয যকাে একক্ষি প্রশ্নের উত্তর দাও:             

a) Why does Sartre think that nothingness cannot be produced by being-in-itself? What, then, 

is the source of nothingness? Discuss. 

সারণ যকে মশ্নে কশ্নরে যয, বস্তুসত্তার স্বরূপ যর্শ্নক শূেযোশ্নক ক্ষেিঃসৃে করা যায় ো? োহশ্নি শূেযোর আক্ষবভণাব হি 

কীভাশ্নব? আশ্নিাচো কর।  

b) Explain the main tenets of the pragmatic theory of truth. 

paÉa¡ ¢houL jah¡c ক্ষহসাশ্নব প্রশ্নয়াগবাশ্নদর j§m hš²hÉ…¢m hÉ¡MÉ¡ Llz 

c) Explain the coherence theory of truth. 

paÉa¡ ¢houL jah¡c ¢qp¡h pwস¢ah¡c hÉ¡MÉ¡ Llz 

d) Explain how George Edward Moore refuted the idealism? 

SSÑ HXJu¡XÑ j§Él কীভাশ্নব i¡hh¡c Mäe কশ্নরশ্নেে? আশ্নিাচো কর।  


